
ಊರ(=ನ ಹ)ಯ Kt`ನ ಮYಯ(= ಅವನ
eGಜನ ಅ'�ತಮ�t_¤ಗಳY1�= lೇ/]�t:
ಹm� �J] ಉt}$G�2 |ಡ-Z;�. ಆವ-Zನ
_ನ_t; ಈವ-Zನ ತನಕ< ಅt;� /ಟೈಡ� ಆ0
ಹ>Z ವ�� ಕ)_;�¡ ಅವನ ಊ/ನ �ೇಹ;
j� ಈಗ* ಇp1 4ಢP0 a-Z�t�ೈD.
ಅV ��t;� ಅi�d� ಅವYt;� ಅವನ
��ಸ6t;� ಅವನ ^ಧYxt;� �Pಗ*
ನY1ಸ� yt_ರಬೇ�tm ಅವನ Kಸ¤
33gಸ* ಒu�:-Z¤ವ hಯ�ನ;ವp.
ಅi�ನ O-� ಅಮ�p �ಡ ಹ�Cಯ 8ಗ:
^¤ ಹm� ಹ/_ನ; ಹtm�;(= \ತ
y\Zt_ರ ಸti~uಯ�� ಕ3¤P%�0
Oೇ> |;�ವ¤. ಆ�~ eM;�t� e<
mVG;t� ಇd1vೇವ¤ ಇt� ಇಬೇ��p1ವ
ನq�t;! ಲೇಕ6�= ytV��ೇ¥-vೇV

ಎtm i~-,cxp1<V ಅವ��ಯ(=
^3ಸಗo0 ಬೇ¡/�t�ೈD.
ಅt4� ಈಗ ನನ¥ ನಮ�'�ಯ�d¥

mt_v Kt:~ಗಳ ಸw}ವG� ಮ>Z ಅi�
ಅಮ�ನ ಸw}ವG� ಅಜಗhtತರ, ಮYಯ(= ಸ'�
s[c;����= �> yಗ{/ಸ?ಗ; ಮನaLಗ.
ಒಳ�ಳ� \ಕ?J ಇವರ ನ:ಮA�
ಅಸ�bನ; ಕtf. ಆ4ಗ ನನ1 ಮ>Z
ಅ'�ಯ�ನ ಮನ]Lಗtn�t: ಒtತರ ಒ'�y�
ಇ\=� ಉ0ಯt¥ ಇ�=, ಅ\=� ptಗt¥ ಇ�=
ಅನ1t4�ೈD. ಅ-Z�¢ ನನ1Ktಡ-¢ ಹm�
ಹ/_ನಗ)t;3ಗ( Pರ ಉgkYಗ)t;3ಗ(
�ವ>Z �ೈrೇ�]�t: ಅ:� -tJ
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